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Half-term Test 1
Pupil Book 1 (Chapters 1, 2, 3)
SECTION A: You must not use a calculator for these questions
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Here are two pages of a calendar:

	April

	Sun
	Mon
	Tue
	Wed
	Thu
	Fri
	Sat

	
	
	
	1
	2
	3
	4

	5
	6
	7
	8
	9
	10
	11

	12
	13
	14
	15
	16
	17
	18

	19
	20
	21
	22
	23
	24
	25

	26
	27
	28
	29
	30
	
	


(a) How many Thursdays are there in April in this year?


...................
[1 mark]
(b) On what date does the first Sunday in May fall?



...................
[1 mark]
(c) Simon visits the dentist on 23rd April. He makes an appointment to have a filling in three weeks’ time. On what date is his next appointment?
......................................














[1 mark]
(d) The Wynyard family flew to France on 29th April and returned home on 15th May. How many nights were they away?

......................................














[1 mark]
2 (a)
The digital clock shows the time using the 24-hour clock.
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Write the time using the 12-hour clock.
......................................




[1 mark]


(b) The digital watch shows the time using the 12-hour clock.
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Write this time as a 24-hour time. 
......................................





[1 mark]
Write, as a 24-hour clock time, the time shown on the watch 2 hours and 35 minutes later.

......................................















[1 mark]
3 Calculate 428 – 176.

Show your working. You may get a mark.
....................................................................................................................

....................................................................................................................























[2 marks]
4 Calculate 729 + 394.

Show your working. You may get a mark.


....................................................................................................................


....................................................................................................................























[2 marks]
5  Lily is investigating which amounts of money she can make with exactly three coins.

Circle the amounts that cannot be made with exactly three coins.

25p               31p               18p               33p               40p





[2 marks]
6 Write in the missing number.


50 + 79 + ................... = 260













[1 mark]
7 Here is a timetable for trains from Newcastle to York.
	Newcastle
	14:05
	14:35
	15:10
	15:30

	Durham
	14:15
	14:45
	15:25
	15:40

	Darlington
	14:35
	15:05
	15:45
	16:00

	York
	15:05
	15:40
	16:20
	16:30


(e) How long does the 15:25 train take to travel from Durham to York?



......................................














[1 mark]
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Kate arrives at Newcastle station at 14:45. How long must she wait for the next train to Darlington?


......................................














[1 mark]
(g) Liam needs to travel from Durham to York so that he can catch the 16:14 train from York to Manchester. What is the latest train he can catch from Durham?



......................................














[1 mark]

8 Complete this multiplication grid.

	×
	10
	100

	45
	
	

	7.8
	78
	

	0.5
	
	

	0.06
	0.6
	






[4 marks]

[4 marks]

9 A plasma screen TV costs £869. Round this price to the nearest hundred.


......................................















[1 mark]
10 Write either > or < to make each statement correct.


–5

.........

5


0

.........

–1


–3

.........

–2















[3 marks]
11 Put the following amounts of money in order from smallest to largest:


£3.12               67p               145p               £0.08

...............................................................................................





[2 marks]
12 The letter n represents a number.

Complete the table.
	n
	n – 5

	10
	

	43
	

	
	15





[3 marks]
13 Circle the calculation that is most suitable for estimating the answer to 48.3 × 13.9.
48 × 13               40 × 10               50 × 14               50 × 10




[1 mark]
14 Write the number that is halfway between each pair of numbers.

(h) 
(a)
......................................














[1 mark]
(b)
......................................














[1 mark]
15  Tom is making patterns with matches:
Pattern 1







Pattern 2






Pattern 3
(i) How many more matches will Tom need to make pattern 4?


......................................














[1 mark]
(j) How many matches altogether will Tom need to make pattern 5?

......................................














[1 mark]
(k) How many matches will Tom need to make pattern 8?

......................................














[1 mark]
SECTION B: You may use a calculator for these questions

16  Here are some items for sale in a sweet shop:

(l) Chloe buys a lolly and two tubes of sweets. How much does she spend?

......................................














[1 mark]
(m) Chloe pays for her sweets with the exact money. What is the fewest number of coins she can pay with? State the coins she will use.

.............................................................................................................

[1 mark]
(n) Dan buys two bottles of lemonade and three lollies using a £5 note. Work out how much change he will get.


Show your working. You may get a mark.


.............................................................................................................

.............................................................................................................

.............................................................................................................

[2 marks]
17 
Here is a sequence:



124               141               158               175               192
(o) What is the rule for the sequence? .............................................

[1 mark]

(p) Here is another sequence. The rule is subtract 13.


Write the next two numbers in the sequence.


97               84               71               ...........               ...........




 [1 mark]

(q) The next sequence has the rule multiply by 3. Write the missing numbers in the sequence.


...........               ...........               18               54               162               ...........


[2 marks]

18 Here is a double function machine. Write in the missing numbers.
























[3 marks]
19 It costs £12 for a group of eight friends to ride on a roller-coaster. How much would it cost for two friends?
....................................................................................................................


....................................................................................................................























[1 mark]
20 Both of these double function machines take an input of 5 and make it into an output of 20. Write two pairs of functions that could do this.

























[2 marks]

Total marks 50

Investigation

Here are four consecutive digits:

1
2
3
4

Use the digits to make two 2-digit numbers that add together to give the biggest total.


Now use the digits again to make two 2-digit numbers that add together to give the smallest total.

Find the difference between the two answers.

Try this again for the digits 2, 3, 4 and 5. What do you notice?

Does this work for any four consecutive digits? Investigate.
4








�





4





�





�





× 4





4








-10





3








3


12


......





3








�





5





20





20





5





......





......





40
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